1/66

9971

Hant | STucT

M gowyse.

Maan.

Paspal.

T8 o)

L

T. KoHTp.

Hacoc - agromar
"MIKAMBO"
4.2/5 "Komghopt"

STur.

et

| Macros 1

. xowerp. |1~

&
g
g
2
i
oz, | ObosHavenne
1 MO440 Snextpogsuratans H-750W (0,75 «kBr, 2800 obimiy, 220 B, 50 (y) 1
2 Mo31 Marwera apMuposanHan 1-12x26x7 1
3 M3352 Mo @ 13360 20,5 (70/50) 1
4 M201 Komeyo 165-170-36-2-3 FOCT 9833-73 1
5 M2826 Mex. Topyesoe ynnotHermne LM 155-12 (CE/CANBR/SUS304) 1
2 & M3350 Koneco pabovee @ 130x40- 12xM10 {4 nonactw) 1
g 7 M3354 Hanpaanawiywi annapar 134, 2x42 1
g 8 M5348 Conno 8 cope 70050 (KOM@OPT) 1
9 M1a1 Komeyo 012-016-25-2-3 FOCT 16829-73 1
. 10 M143 Komeyo 032-036-25 FOCT 983373 1
é 11 M192 Komeyo 028-032-25 FOCT 9833-73 1
ﬁ 12 M5335 Komeyo 025-029-25 FOCT 9833-73 1
2 13 M5350 Aaantep (KOM@OFT) 1
14 o001 Enox asTomMariim 1
ﬁ 15 M5424 Faitwa namguas G1 144", nnactmaccosan (kpackas) 1
£ 16 M5349 Wiryuep peasbososn 1KOMPOPT) 1
f‘g 17 M5407 Sarnywka nnactmaccosan 1/4" (kpacHan) 2
18 M180 Komeyo 010-014-25 FOCT 9833-73 2
» 19 M4787 Lifrok @15 L=42 (Mum), naTyrHHbii 1
5 20 M4784 Membpara 49x49xT mm (peaun.) 1
% 21 M5352 Ulanba L=8 (KOM@OPT) 1
= 22 MA786 | Moywna G255 L=46, 03 () 1
23 M5353 Kpbiua membpans (KOMPOPT) 1
s 24 Mda581 Bunr M4x25 Hepx. ¢ sHyTD. wecturpantuxom DIN 912 sHyTp. wecr., kn.np.8.8 4
2 25 M142 BisnT M5x35 ounrxosansid DIN 912 srytp weer., kn 8.8 8
z 26 M48934 lauka M8 cronop. Hepx. DIN 985 1
= b M5342 Kopnye Ixambo 70050 11 - 14" (KOM®OPT) 1

H. koHTD.

¥re.

IDKIEKC

Meacca Macwrat




@™
83
»

No | Aptukyn | HaumeHoBaHue
1 M018 Konpgexcatop 16 mxk® 4508 (35x70, L=150) 1
2 M1315 MoawwunHuk 6202 ZZ 2
3 M323 3nekTpokabens Kb 3x2,5-1,5 ¢ BUAKOM 1
4 M337 Bentunatop XKJ-110ES (HJ-750W) RAL 2008 1
5 M3320 | Potop HI-750W 1
6 M3321 | Kopnyc ag. c obmoTtkoit HJ-750W RAL 5012 4
7 M334 LLUMT NOAWMNHUKOBLIN 3aaHui XKI-110ES 1
8 M339 Kpsblwka seHTunaTtopa XKJ-110ES (HJ-750W) 1
9 M351 KpoHwreitt XKJ-110ES (HJ-750W) RAL 5012 1
10 | M537 Bont M5x135, OLMHKOBaHHbLIN 4
11 | M540 BUHT M4x8 oumMHKOBaHHbI DIN7985 6
12 | M541 KnemmHana KoNoaka 3-X KOHTaKTHanA 1
13 [ M542 YNNOTHEHWE KOHAEHCATOPHOM KOPoOKK 134x111 mm | 1
14 | M543 Kopobka koHgeHcatopHaa 134x111 mm 1
BbIKNKOYaTENb KHONOYHLIN 4 KOHTakTa 30x25 250B
15 | M545 15A c noacBeTKon
16 | M546 ynnotHeHue repmossoga @17x8-8
KpbILWKa KOHAEHCATOPHOW KOpobkK 134x111 mm
17 | M622 (Oxamb0) 1
18 | M623 HakuaHas raka M18x1,5 nnacrm. 1
19 | M624 YNnoTHeHUe BbIKAKYaTeNA KHonovHoro 30x25 1
20 | M626 Ynop @ 34x25-M8x4 1
21 | M816 3amum KoHaeHcaTopa 65x65x25 1
22 [ M538 Waiba npyxuHHan @ 27 1

17

24




